EARAROBEEIERT — 2 N— IBISH —F

2015510831 (+) 4M%=8H

LNl Y R 2 %

#HE (RS

) [5%E] B

‘ (%] 8 ‘ [EmmEl  — | 4 () 14000 &

[~E%] 1 #%:7,000,000 @ ~ 23 :2,800,000MH ~ 33&:

1,800,000 § . 4 & :1,100,000 H 5 & : 700,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
HiDaE :27. — . . R FIEL (Ei)
i NEEPP TR o2 o3 1(2_7)1 12-12 | 36.4| 87.5 | 4 (432) Hane
Rihrexy BHCYTATuY I8 E5
Y # o2 | C. bx—Jb 1:28.1 6-2 38.0| 78.0 | 1 510 | A (i)
2 7| @7 —FX%2U 55.0 ®) (—) |ERESHILY
AL:Archarcharch £ :Profitability Spendthrift Farm,
N B EAs : - NEFRER (3EiH)
35| 9| h—BLET P - o2 PR 1.(228>.4 14-13 | 37.5| 75.6 | 9 (412) X
:77AVIT BRZRFTUTUX iEltae]
e KT O o2 | ALHEE :28.4 6-10 37.9| 755 | 2 494 | RTTERE (%)
41111 | Ky F7E>2 5.0 (1) (—) |MNIEEE
R:T—UT74=-X B:XH—Ly hELX BB ANS
s 2 | IHRS 1:28.9 12-10 [ 38.4| 70.9 | 14 | 440 |HBEER (EH)
517]14| TETLTT 5.0 @ oy | ) mEes
L:TANVRSyYa BT E-—ER SRS
N i o2 | HHE 1:29.1 8-8 38.7| 68.8 | 11 442 | BB (EH)
6 11 W FIN=F 55.0 ) (—) () BifEHRS
L:a2=—/xLLy b B:HY—Z=T AR5
. e REREA : - HNEEFNR (3E7H)
7 5| 7SR UYq o2 [ 1.(229>.4 9-13 38.5| 66.8 | 15 (432) Ll
RixAavR—-5— B:ILT+—FKth KA
o2 | SHE2 1:29.5 9-8 39.1]65.1 | 3 466 | U (3£5H)
8|5[10| 7T TAT7 71— 54.0 (1/2) ) |*3v¥-Ex 8
R:T77NT5T BAAIRTHY) =i BB
. o oera —s KEFRTR 129, — . . REE (EH)
9 3 AFTHATEF 1 o2 S 1 (229)8 3-6 39.5| 62.3 | 5 (450) Uik
L:OA-YX12 24 B:a-774—-> IWE B
. # o2 | AEEE 1:30.1 2-2 40.1| 60.1 | 10 | 514 |EBEEA (E#)
108l 15| * 177+ 85.0 (1 8/a) ) | @) Basic
LBATATv— BN—FT13I=X4— 1ERESS
S . it 2 | EEE 1:30.1 14-15 [ 39.0| 60.7 | 13 | 420 |%EEA (k)
EHG =Pt "2 (F2%) o) | mEm
LNR—HNK B:oas—F HE $RE
NN LEERAH : — MEER (E#)
1lglisl v ivaan< o2 peal 1(73?:) 16-16 | 38.8| 60.1 | 12 (412) g
LiALNTyFILE B A0t A4S
R 30, - A , EFEH (EH)
13012 IR RT7H i 2 o) 1 (330)7 9-2 40.6| 55.8 | 7 (434) gmaﬁ%
Rihrexy B:RE—PHybI1h AT 7 — L
3 o2 | K& 1:30.8 3-2 40.7| 55.2 | 6 430 | EBFIBEE (EX)
1w a7 —F 54.0 (1/2) (—) |Eaa=
RTINFINTL2 FBEyII—> LIS
S BN o2 | A 1:30.9 3-6 40.6| 54.3 | 8 454 | FIEHE= (FH)
151 2| X171 707 5.0 (3/4) ) | W) egHTy—g-x-az%
L/ KR vyy B:T7LzUZR EdHhTT7— L
5 = it 2 | BWEEETT 1:33.2 1-1 432 41.2 | 16 | 450 |BEEEZ (E#H)
16/ 7|13 V¥ A bZ > 54.0 (%24 4) (=) | TiE=EE
X7 T—R VXTI T7—F B:T7L2FIvD Al #&
@ 71 L
) 50.7-37.1
NA>Z4 L | 12.9-11.1-12.4-13.6-12.8-11.8-12.5
® I —F—@EBIERL
13=3r=
20—7—
Gol=5r= (x13,15) (2,3,4) (1,7)11-(10,5,12) (8,14) (6,9)-16
40—F— (¥13,15,4,7,12) (2,3) (10,11) (1,14)8(5,9)6,16
[ N3
BB 8 860M 714K 7-8 630M e E 4-4 1,780M JEHE 7-8-9 9,610/
8 B 8 290M 8-9 3,280 B = 7-8 1,610 B 8-7-9 63,600
7 150/ 7-9 1,250 | | & B 8-7 4,010M
9 630M

ABICOVWTRDTEEERROODE. TR LIV,




